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問題1 次の文章を読んで、以下の問いに答えなさい。 

-------------------------------------------------------------------------------- 

問題文は The Japan News, December 23,2013 より抜粋した。 

-------------------------------------------------------------------------------- 

 

問 1 次の英語の問いについて、文中の記述を基に、日本語で答えなさい。 

Why does the government plan to include two vaccines in routine vaccinations 

carried out by municipalities？ 

問 2 下線部を和訳しなさい。 

問 3次の文が正しければ〔T〕を、誤りであれば〔F〕を記しなさい。 

1）People aged 65 or older will need vaccinations twice.     

2）Children will receive chickenpox vaccinations by the time they reach l or 2 years old.  

3）Chickenpox is a major cause of death among elderly people.   

4）It is necessary to revise the Preventive Vaccination Law.  

5）Vaccination for cervical cancer is a designated part of the routine program.  

 

問題2 次の文章を読んで、以下の問いに答えなさい。 

-------------------------------------------------------------------------------- 

問題文は Eric P. Widmaier: Why Geese Don’t Get Obese: Freeman and Company, 1999 より抜

粋した。 

-------------------------------------------------------------------------------- 

 

問1 下線部（ア）の理由を日本語で記しなさい。 

問2 下線部（イ）の記述内容について、本文の記述を用いて具体的に日本語で説明しなさ

い。 

 


